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SANSKRTT - HOI{OURS

Paper : CC-4

(Section-AtoC)

[Unit:I+II+il{
Full Marks : 65

The figures in the margin indicate full marlcs.

Candidates are required to give their answers in their own words
as far as practicable.

Unit - I
(Marks : 30)

t. erqwig Ecrni elcr+E orhrifhwq B-f,-i eq1 (*iqrwv+r @ q 3ilflS.q)

(a) gHrq: qr fuq? aErsfr qr fuq?

(b) 'rq:qsffifuqTFr o{fr'- erl sftroq-tq R'o-*emi qqor

(c)ffinqr:@BfugadTtl
(d) xgft: o.frfrqr? orrq or:?

(e) fl-ikqctrm-s ftqqr: d?

(0 c-g.h-s-€mr gw: mftfrw:? iTrrf,: tqrq ed-e, tnsotq:l

(e) ssgurs E-sq et$,=?

(h) tR"i omq fuqearft o1 gur:? H Sur: g;o: rnggqfr?

(i) ot: owm q,gfr? oE tfui b': elt: ft-ffffi?

0) '.q-{sql-qq' gq, qFrffiS: E]-d:t

(k) 'r$q' {i{s cfr€rq) fusal{t

0) o.IB qg cSfunFrz

(m) ru}gunq * qrqtz
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z. srtilfuffitfiw €q-ourv+ @ 3nfYrs. qrs-S @rc{ii @Tt'r -
(a) tHsfu=q qsn t* o)qx dq=i q-srt

oen ffiffrwr q 5Hftll

(b) s-mrq qsT{fr fl=i rq-d dq gq st

rqremd) dErS rq-dlssrrtq stt

3. (a) Bfuq q-fld ftr5quftq: (dqamw ig-+r'rqfuMq-q)

(i) ffi: (u.z.a)

(ii) cqmfrd (u.z.u)

sTersl

(b) Fmfuffi: orcogftoq ftqftpffiqr -
(D tf (u.z.a)

1iD qmrq (u.z.u)

Unit - II
(Marks : 15)

a. @) Suror gfr: o.ftftqr? omi ssqq @1
SPItIT,

(b) strlri Rrat qq o.rcqrfr ffi-orqgqeq trqffiq<iqt

s. ertifuffitoe qrqqtsqr q-Tsttr: o-f,ar:l

(a) q\qp1: gs $'{TFI u$ o6r erqsql

fu-+a-fuild' wfr rnor sqei dq vqfil1

(b) q G srt-{ e-gn vfraft-e ffit
nq E"i dnr*ifltra' flffi ffill

6x1

2x2

2x2

10

10

5x1



(3)

Unit - [I
(Marks : 20)

6. qtnftfueg o.-srfr eqs dror dqornvur ffifrqTlfcq ffiqr -
alq:, e{€r, frq:, uo-dgal

7. @ fr1M qs1 rrrr-{f,r @q Yeifuf,:?

€ffirql

,,q.duffi qI q-&g tb-qlqq" __ qfr urq sffid1-qr, Efrq-{ qtqr$ s'qflqAz o157

q-or? s-iarsrwrsd ffit t+1+8

5x2
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